Regles de Division (C)

Trouvez chaque quotient.

126 -9 = 0+7= 156 - 13 = 44 - 11 =
2+12= 3+-1= 8 +13 = 48 +-8 =
21 -3 = 13+13 = 104 - 13 = 182 + 14 =
24 -2 = 90 -9 = 156 - 13 = 88 8 =
12+6 = 96 + 12 = §+2= 14+7=
24 + 8 = 204 = b2 +13 = 48 +-8 =
18+9 = 26 + 13 = 16 =8 = 4+4=
12+12 = b+ 6= b+b= 120 + 10 =
20 -0 = 65+ 5 = 14+7= 64 +8 =
117 +-13 = 60 ~5 = 40 =10 = 12+12 =
908 =7 = 42 -6 = 11+1= I8+3=
96 ~ 8 = 24 —4 = 108+ 12 = 56 + 14 =
11+1= 98 ~ 14 = 80 + 10 = 36 +9 =
117+ 13 = 140 =10 = 182 + 14 = 48 +8 =
16 =2 = 24 +3 = 4+2= 15+5=
15+5= 24 +3 = 24 +8 = 84 +12 =
h2 - 13 = 2+1= 40 =4 = 45+ 5 =
15+3= 81 +9 = 13+1= 28 +2=
18 +6= 40 -4 = 156 = 13 = 24 -3 =
45 +9 = 81 +9 = 56 -8 = T=T7=
32+8= T+7= 32 +8 = 8+1=
91 - 13 = 168 + 14 = 28+2= 108 =12 =
2+ 13 = 36 +3 = 324 = 60 10 =
80 =8 = 20 -4 = 8+2= 6+2=
56 -4 = 14+1= 99 11 = 27+ 3 =
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Regles de Division Solutions (C)

126 -9 =14
72=+12=606
21 -3=17
24 +-2=12
12+-6=2
24+-8=3
18+9=2
12+12=1
20 =5=25
117+13=9
9B +7=14
96 -8 =12
11+-1=11
117+13=9
16 -2 =8
5+=5=3
52 +13=4
15+3=5
18=6=3
45+9=5
32+-8=4
91 =13=7
h2+13=4
80 -8 =10
50 -4 =14

Trouvez chaque quotient.

70 =7=10
3+1=3
13+-13=1
90 +9 =10
96 + 12 =8
20+-4=5
26 +13 =2
54+6=19
65+5=13
60 =5 =12
42 +-6=17
24+-4=06
R®+-14=7
140 =10 = 14
24 +-3=28
24 +~3 =28
2+-1=2
81+-9=9
40 -4 =10
81+-9=9
T+=7=1
168 =14 = 12
36+3=12
20-4=5
14+-1=14

156 =~ 13 = 12
8+13=06
104 =13 =8
156 =13 = 12
8+=2=4
h2+13=14
16 -8=2
b+bo=1
4=+=7=2
40 =10 =4
11+-1=11
108 +-12=9
80+ 10 =38
182 +14 =13
4+2=2
24+-8=23
40 -4 =10
13+-1=13
156 =13 = 12
56 +-8=7
32+8=4
28+-2=14
32+4=28
8+=2=4
9+11=9

44 +11=14
48 =8 =06
182 +14 =13
88 -8 =11
4+7=2
48 -8 =0
4+-4=1
120 - 10 =12
64 +-8=28
12+12=1
18+3=6
56 ~ 14 =4
36+-9=41
48 =8 =0
15+5=3
84 +12=7
45=+=5=9
28 +-2=14
24 +-3=28
T+=7=1
8+1=8
108 +12=9
60 - 10 =6
6+2=3
21+-3=9
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